S0

40

30

20

ig

120

130

70 gt 2. Ao 120 L
32634117807 R21
bk 712141412
IR 21187 b3s[31 i1y]13
R RRK 1 {14{1 16415
: I DO M0 NN iorfies|  [167]83 (53 (77 |72 Jr2s| 1 Rit
. 46 |51 26121321148 {1116 {3
. Bl 109 92 1162181 {90 |90 {86 {113)188]113
801-2'-- 17 3713413518 [19(14114|i5147
. i19| jicafi1s 96 126122
. 33 29 |28 39 20|89
G4 74 1SC |96 1121131118
e 55 36123 ]17[15 138 |21
89194 99 {90 (91 1190107113401 31 132 /
o 41[34] [12]i7]28| [29]2s ;4720 39 <+
121 127 S L Y4i1371142i122|85 |78 1221i14[122[i55(187 '
42 45 ,%44 1512214 |281321i60|3527|9 |7
422] |99 healraelie7)itt(88 hoalitslial 129]97 31
e LN 21 s 47114142641 (57490298 li3]9
N ST 136 1e7[i01 115)119fi06[93 12j143fie5]t33/ios)ie3|86 |72 19
i\ 29 55163 17121131 |46 (5813722131 {30 (325629 {4
80 1e2|109/i28}113({87 {85 {89 {88 t08(1061109(98 |89 {78 (82 {82 |36 103
g % i5]21]12123|36{39 44 [15{27132 |60 i55 {36 |19 {30 {29 |18 |70 |60
7379 lotfi15102(92 |92 102]94 |99 [108|98 (83 [8C |80 |84 g4
13036 |21 |16 |28 (28 [29 (36 |40 |63 {58 {45 |16 124 {3036 794"
- > 132111311190 110 721985 121{i15{121499 G
2 > 34 |22 (32 |54 sol  l1s|20| 52153 ’;-[%g 4
97 104 78 78 te7pcq|82 (74 (72 (7
PR 36 |47 75 |62 18 (31 |50 3
S — 9% [160]82 SO|85 159 [7%]76 |86 |37 |8 |7
- L 24 (16111427 |37 47325552 261321312
~ \ 74 123 \JBEg8 [7T1%8 |7 76 |70
~—X 2 |11 7113842 %1 |5 26125/
89 (82 fi21]97 7 5E (7218318
Zf? 4229113126 4 26 </J 54/?,4942;@ 4
S 150144 i10 9@\78 51|75 85(5‘?){54](%8
u 2 11 g 58053 /33|30 |43 31437 |52 6
{ h\k 127 70873 |85 |76 172 747207
{L 18 72143130134 58|51 4215
96| |77 80 51 75161151 |76 17966 |6
= §~L\’\~ I } 4 sal l2s| 53| 4| lasl32|21l61les]3sle
~ ™) 153)130] |54 90 7 73185 [71
513 82 71 7 3i {54 |50
195185 ’ 7
Example 4 (11 /] 46
-~ NE MY U
B.7°LAT —-\U/
NN L3 43 C
_l\ 7\ / ~
whw v 303 \\
" ) 2N 7 j >
wk2710 [ 3 -~
wsw se \ k?v"
, "L } g\l\\
ssw g SS€ > \\ / mm
|
80 g0 100 s A DL



140

150

170

160

XIn82 XS EDFHBEEE (&) EEER)

ST

170

16
N S R RS D0 D o

13155

20

53‘5'7

i7

55|36

460

121
3

23
il

5
5
6 |12
29133

3 |i8]i

346|147 |42
is5]19 (17

328 (20 359

2494

57
14

16 (27
211]i5

38|18 |22
13/8 |10

6313214 |49

33

28120

52145 (34

20 |35 p50
22 123113

10

69118
201]i4

8C 342{5C

13132120132 |26

€C
26

357|162

74 146 |64
26133124

3153 {57170 |35 |33

50
2414312831 |30

29 126

g1 |53

24

76 |60
35 )41

5€ |66 (54
20133 |33

49 |56 |61 |62

39 129

66
35

35136

47148135

60170 |44 {36
48 (38 (28 |42

78|83

j 131 {373

Sl

70 {H8
57143

65 |66 |62
SC |58 (66

69 |7
48 46

71
55

69 {60

£9 1647
56169 |66

6173161
49 |34 {30

€2 |69

48 |57

33
€3

69176

j 153 {49

57174 15C

7676164 |6

40

72174

2 B T=3)
N

7
{

65

72 {64
49 [41

7817381
40 146 |47

34|81

73

n
<

59
53

31
71

87190
57148

o CTjeT el F‘rl“\ltﬁi‘.ﬂ Lo F A RN S TIU R & ¥
ul

40

64
25

a9

34

74
12

o e fs o DN O o ole e
B e oo .

TIi8 *
MEAN DISPLACEMENT JIRECTION

NINTER 20

OF

CYCLGNE IN 2°

1968

SQUARE AREA

12 ——

1978 2

‘140

150

160

170

180

170 166°




50

40

30

20

110

120

130

100

58
22

76
21

80
26

68
26

61
27

83
19

110
24

3i
18

63
11

88
20

95|84 |76
12124 123

58
25

96
32

101
15

i 49
13

64
18

60
12

- W

E5 9%
15126

101|190 j1CE
32(23 ]38

99
39

98
3i

75
36

79

25 |1

132

81
15

90
13

56
20

84
i0

w~ len

117]84
38 {41

94|76 |86
20 (21 |24

84
32

80
38

96

107
20

79
21

72
12

-
4

20

24

8418

77
41

101|87
3i [3i

114
24

94 |95
27121

61
i9

110
30

5S4

60
i7

23

117(99

<7
25

84
40

74
3i

97

103]100
43 |34

103[i29)117
27133 {37

101 {i

66

76
28

1224101
38 (32

1141123(115
31141 141

43

97 |

gi
36

3713

88
26

103

18]

11gfies
17 ]42

1141114113
32129 {30

96
3i

102
45

g8

45

76188117
20121115

90

sit1e

34

i 09
33

94
38

129
i6

109153 {82

131
44

13
13

w oo ofjw oW s B wlw elw eld \

132|199 {78
N |21 127

72

55

3li24

i3

7]

?‘2 133{74
16 (23

84
S6

73

=

73

~
)
N\

145
i2

87
23

T4
7

~IPR, 3

64
i8

1221137

\& 139
)

-
{

se

90
34

76
33

6i
38

14C[i22

89
58

82
73

92
33

92
22

B0 e

Example

3i8[149(134

10

8 8.7°LAT i

96 f1189

98

~N\

T

D S Y

I

\a

1 Z

80 8C

100

110

120

130




140

150

160

170

K83 (EKED I EERE (B GEETR)

v o s *
e o « ofs
Nl o d
K KN
e |s
boo o o

3 .
. R o R BENRTEREN
o]e o R PR
. S .

.. o ofe

180 170

YL I

ettt
SJeoh

(RSN V]

96
27

107

73
14

22

32054

73
17

= Rlo BN

58196
19 |31

35

i3

64 |65
25 |23

Ac,,sﬂ
=y

70
i4

8

57|72
il]22

oy

52
22

7
3

68 |64
21133

KT
[#3]

S0
21

66
34

66 |68

5C

34 |33

67
44

76

26

63|64
42 {39

25 (30

159

34

g2 |

45

62 |38

53 |47

55 |7¢

36 {26

71
41

64
42

57 |63

41 148 |

63 |65
40 |38

30
46

67
47

60 |65
57 |54

53 |ES
51 |46

71
45

72

59

30 |63
52 |57

54 {83 |56 55 59
48159 |59 39 33

40

74 |68
44 148

30
46

72
56

46 |62

8€ |63

78
42

{

60

90 |74
40 |51

28 45

7 76 B0 000

68 (81
46 |30

36
39

79

55

79
47

72

59

32
36

36
26

T WIS O "-"K‘U l’lﬂ“\‘.ﬂ{" WU WL S TN e

35

31

{30

(=]

103

DK 9]
e« o b oo ofe ol
ofe ofe o

SPRING

MEAN DISPLACEMENT SJIRECRIZN. ¢,

OF

CYCLONE IN 2° SQUARE AREA

1968 3 —— 1978 5

140

150

160

170

180 170

166°




%8

40

30

20

10

100

110

120

130

.o .
Py
. e

101
22

85

23

60
28

72
24

<

92
20

120

90
16

36
22

78
28

327

92
24

57|47

S4
10

49

46
20

38
17

28
22

44
17

77
49

95

i8

69 |8C

i8

69

14 |i

93
18

53
il

39
12

71
21

114
12

67
20

70
16

114
18

96
27

39

-

95
36

92
11

41
24

39

69
25

61
13

g2
20

68
12

76

65

i2

71

43
18

72
16

72
61

113

321i

50
-

84
12

110

§9

79
i8

/P
1%

11

1T7]
i9

117

111
18

63
39

103

o win oo el \

N

t

= |

i1l

102

—

—

2855

79
27

99

N\

317

116
il

88 [i

95

i8.1

66
12

71
28

83|

103
11

N DDIND s NS LT

130

109

12811

108

93

3i

<

142

67

56
21

73
29

=

81

P

25

60
41

73
5SS

38

po ol e JRAamiis

15C

98
37

Example

a5
87

- NE
8.7°LAT

139

84
28

45
37

132
11

3&793

L

31
36

\

R79

79

4
g

il

X

oA

'\/\/

N[ A

| 2

30

100

110

120

130



140

150

16C

170

RIRSS ESHEDO T BEE (8) GREET)

87
18

ST R s th ne

180

R R

180,

97
19

120
3i

50
13

32
25

79 |90
19421

69
17

94
13

i41.
19

92
26

82
30

80
i1

110
20

122|895
2118

64

79
16

3 132
6 |i8

45
16

(S N 10 LR A R TE R R )]

S0
12

78

125

112
11

53 |62
LT

0
—
(%]
(53]

yd
5116
14

170

\J?‘
=
e
-+

86

(93]

m‘
32

53168 (82 (47

95
186

57 |42 |32 B60[336
22110124 18(i4

52
294

i dad Al N Ll | i T
=
b2

N
[3:]

87

50

30

29 143 |28 (32|31

80 {76 |5C |35 |69

38 |66 (72
32|51 |24

5C 26 {21

63 60
61 34

DR AT O [ W]
=

40

85 57
25 36

€o
45

PR - =~ " Lt T nor’ G = %“
X!
iy

..
CIK SR
..

SUMMER 20

MEAN DISPLACEMENT DIRECTION €5

aF

CYCLGNE IN 2° SQUARE AREA

1869 6 —

1978 8

140

150

160

180

170 1660




50

40

30

20

(Y — E— R 110
73176 |80 |80 |65
1418 |15|24 |16
71 |60 |90 42 {55 (53 44
38|2¢ |18 1620 2 8
. 75 |79 43 10172 hes|66 (85 |57
: 35 |44 30 2923120 (1712020
. . 76 83 te7fic7|93 85 |71 [82 |84 58 76 33
60 N N O 44 35136135 (393513933 (38 25 37 i5
79196 85/93 188 |ica| Trcelies g8 6i |70
. 16127 31038119137 3% |43 3i 7 17
I 84 53 77 |50 109 85 36 8
-] 30 46 37|22 42 21 12 2
K 68 104 1/27107 128]  fi1sfits]  [113]83 95 g
37 34 | £]135 3i| |27123] 28|26 3835
118 /;«9 97 litc]|94 |65 |io7lics|99 183 192175 [73 |75 185 |7
50 29136133|5 |32136 (33130126 (18|30 (32 (358 151 |4
<8880 921954587087 (98 (9781 |86 (68|73 (82|76 |6
= AN N 21|53 19037133{38 (38 [43135 (26 |21 |25 (36 43 |40 {4
NI ST Sle1 heie3 fios|es heslhies|76 |81 |77 (6C |75 |82 |79 (8S o777 |83 (62 |73 (8
N\ 6 137151 |24 {31 |3i |47 (55143 22|30 |41 40|35 (2823 |23 |29 |36 |46 |4
50167 hoslieshes|iis[37 |84 |71 (8C [97 [99 (97 [96 [74 |64 |78 |68 |7S |86 | |
T % 24120 (40 {26 |25 |42 (45 [32 |31 {360 |24 [39 {47 [31 |16 (34 |40 {31 |35 (55|
17594 105(:02|8S |93 |97 |84 [80 iczlic111s8]S2 67 |79 4
162 3412625 |31 |23 |25 {26 |50 |43 [45 {17 [29 |26 b
—~—17 73 71 90 (75 |67 |42 t12f12s|142f1c1 |64 |92 187 |ies 56415
N 14 33 2012813012144 |50 |31 [42 /34 /3935 |44 2974313
12G 50 (30 52 (80{]79 |79 65 |5
28 24 48 [34'(32 |31 [39 3
= — tasfie2]gg e ,7—9";2 6984 |75 |69 (7C |6
a N 5 16421 (41137 42185 [46 31 |29 12
\ 68 |6C | 767, 8’3‘§0 €Y |55 |56 |53 |7
~—3_ 16124 38 (287 [44[R954]49 41 |44 2
(51 6677 82 (73|47 3 18
» Zf? 3 9 li4 <34 301i8 </4)g /&8::73
é S 149 61 €2 e\g\ 72 697 gg«mve
14 18 38 |4 36 [38 1X0/143 |26 |3
z h& 120 73 87 [72166 @9 |81 |72 |7
2 - 17 33124 (29(38 {24 |21 12
135/136]9 6C &
R ?ML\’\N ) 1) 15 f 26| |1
S~~~ \) 189152 81 €417
416 11 I 36 (2
1171174
Exaomple 719 r/ /)
e NELRY
8.7°LAT ,_\«(,
N__nNE ‘}
\ N T
wWNW, ENE
L~ |
w270 € .
wsw [ 173 \ K’) t
106
ssw g~ St \ /\L\ /1} 5 D\j\r‘\
b2
P \‘\ —1s Y :LVR?
80 g0 100 110 120 130



BaRk8s (ESKUEDTIIRBE EE BO  (HEHRR)

140 150 160 170 180 170 1690
i.}:::::::::f:::::. ISP IS0 SEON SO DEDE NEDED [N IEDC] DR JEDE O
o 1
35 4C i3y 57 |50 \E>
42| 1910 Vs 21|15 L—
40 40 153 1173)43| [73[90] 6139|5368 |33 (67 12
i6 287 |21 2{, 3L 133 AT8 [25|27[5 J14)4 |20 52 255 PN
36 1201639876189 |69 146 [54 [46 |7 [9F 70 55 (51 [73 |68 |50 (50| |48 (24 |50 |24 ]
1316 |5 |1208716 |7 |it A2s 161325 fi2 (192 17|16 (17|14
¥{7216C |55 |83 149 |79 |60 [67 [7T]72[SC [A1 [38 |59 [65 |81 |62 [77(55 72|67 |73 |77 |46
31411911817 17 [i0]5 117121134 [22 19|19 |25 |21 [i6 15| |15[27 (29|26 (17]i2][14
157167152 158195 76 |50 [sY |71 |81 [70(|38 53 |74 |65 [79 |63 |73 |58 |81 (33 |70 |55 |72 |76 [8%| |37
AJ21 142119127 1191167 |17\|31 |51 12625 |21 |21 |42 |27 |21 |33 (2212 (17|32 |22 [22 123 |19 8
5 8% 62 47166 (73175 8262166 [Snl48 (63 (80 [94 (79 (9864 [57 |61 [77 76 |89 |59 |78 |80 |75 [49 |79
3 28]18 |21 19 |25 |5 |23 |28 88 |17 27 |25 125 |21 |31 |19 3% |31 |45 |31 |38 |26 |45 |15 |34 |23 |19 |20
! zo 66120 (81 |62 (44 |62 |52 [§3162 (43|61 [58 (84 (69 {33 |61 |6€ |66 |70 45 [74 [57 |6C |71 |65 |65 |45
3|26 135\20 127 145 |19 |26 |43440 (33 |22 |40 |28 |29 33 |34 |5C |40 |40 |30 |22 [32 |16 |14 |37 |50 |24 |30 sc
5135 gg~53 68177 |77]54 53 (7059 [64 (92 (76 [63| |66 (55{8C |57 [72[64 (65 |71 [83 53 |82 (58 (55
34191427 129 127 140 |36 33|35 {32 34 [45 |46 |31 |5t | |36 |59 |45 |40 |36 |46 38 127 |24 |34 |36 |35 |30
3139148 (59 (68170 [6C |51 |75 (53|75 [5C [64 |65 |3E |65 |71 [€2 |73 |77 [8C |71 |63 |74 [71 |72 |70 |82 |74
4117438 141 141 |31 |44 137 |33 [41 149 |47 |41 |55 |63 |51 |35 |35 |43 [49 |45 |48 |24 (43 {3735 |62 |23 [27
3149474 (67| 156717863 6C (61 [85 |65 |66 |66 (74 |56 (31| 6369 (73 |36 |53 |83 |76 |GC |67 |66 |48
5 [33)(850 | a6 |34 |51 |35 49 |35 |56 |43 |45 |46 |53 |55 |57 |42 |38 |42 |35 |23 |38 |50 |42 37 ]33
7 g£;7: €3-(72155 |53 63|76 |65 |74 [78 |79 |65 (82 |63 [75 [73 |85 |56 |78 |71 [17 |61 [10| |74 |59 |62
749540145 [44 |41 14252 141 |55 |45 |36 |44 |39 |35 |59 [43 |56 |58 45 |47 |41 |63 |46 |41 | [39]48]30
71437246 [63 |81 65|65 (67 |63 (63 |59 |71 |81 69|65 |82 (67 |74 65|77 [77]75| |75 |6E |59
3 [0IN49 130 14C [36 |42 148 146 |50 |59 |54 (50147 {31 143 (49|40 (25 |49 (66 (4957 | |58{34 |50 10
4168]77163 (59 (58|70 {71 |62 {7C |68 |73 [75 |61 |76 [7C |74 [79]| |76[€4 [8C [94 |71 | |84
7149145 148 |52 |43 |51 |49 |55 |55 |49 |60 57 37|51 [4c a1 |43]  |43]58(32|53]4s] |39
7 gp 5C[SE|64(6E [69(74 (68|75 |73 [B3 |75 (67 |77(78 83| (72| |33 78167 52
2199129142 141 |44 [52|5C |37 |54 {45 |33 |34 |47 |44 (41 [46| (41| |53 48 |47 25
2|83 1637273 (78|75 |76 |78 [82[76 [8S [77 les|83 [75 [67 73185 | |84 72 R
114030137147 |55 |40 {42 |55 |41 |56 |37 [43 |15 |49 |62 |29 261i9| |48 27
3[791787721(76 |74 [8C |51 63| [58(75(72[59 |91 (58 76 203
3142124 [32{30 |39 |62 |47 3if [33]51 (1629|4231 13 3 -
3[62785[79 75 |95 28
313703527 40 |40 . i S
217 85 |36 RECR5C . -
740 33[27 i4/3 N
L
AUTUMN 20
MEAN DISPLACEMENT BIRECIIEN €0
OF
CYCLOGNE IN 2° SQUARE AREA
1968 8 —— 1978 11
140 150 160 170 180 170 16‘[1.10




50

40

30

20

10

70 -

80 100 110 120 130
—T T .- oile
2512
611{83|64 (88 |118|58(67|89|73]6C |78 898
26|28 ]i4 (11 |7 J10{7 {15]13{i1[22]27]2
65178182 (54|74 |70 |5C |S1 |83 |86 |53 {81 {80 |51 |42 |9
1011712713324 29(i3[20117!7 1S {8 |8 {10(12]t
69|91 |64|78]72 |94 91 |52 |104{79 {84 |67 |89 S0 |7C [ics|6t {73 |8
23]i61(201{21{36138139 |26 |17 16 [21|17(13}{5 {12|13|12|6 |=
----- 62|75 |65 (80 |ice|82|9S hei |96 {5376 183 |89 (82180 |ics|75 |97 193 {49 |48 |i:
60 SO0 LI JOE] COC AN, KN N 3517 12027 [19(26 1261313013323 (26[i9|9 [17(33127|17|14|21]9 |¢
.. 65|66 {79|8C |87 |91 |87 (7591 {83 {77197 |83 tcijtos|yi |62 |84 (81 (70 (72|71 (57 |9
3214612838 (35 {30{17 2112625253330 |28 {25|i6|18(27{30{15{8 |13]17]1
84170 |99 (89 67 {30 (85 |67 [1c0{98 |72 115(85 [ice|146/129]70 |96 {52 |75 [S7 [63 [85 |ic
. 45 145|50(37 (33 (31 |26 (18125 (2531 {38{28(29|i7]20]ig[271{28]9 2041|543
57 (62|79 88 fioe|73 |84 {96 |97 [1o3)1o5{tc4p it 11 24|85 [tos]71 |95 1isfies(s7 {71 [76]71 |89 )7
32135 |39 4812813237133 (322421 |25 ﬁﬂ 3613312023 (1525122121 ]19{3i |27 4<F—g‘
65 66 |36 {98 |79 1123({96 |1ca|70 {72 1c4[85 |S }é 11c(104|84 [73 |90 11ofto2{s9 198 (75 (89 [88 (91 |9
24 20168 |56 148152 (33|51 (433937 28/%'33 2412616 [17 25|30 |25 119{i7117{22{30(37 |3
117{49 125/127[i06(|81 |9 785177 183 [97 (92 {95 |80 |85 |93 [io3fic2|9i [88 (74 (9387 |8
MU 27 (U745 |56 (51 [27 [20{34 (3738123 1312335 (32 (26 [i6[15{18]223i |28 3
36 NI SPyeoiitfic2]g2 ieslitslicelici S5 (9782187 |74 (85 11698 [10s(82 |92 [83 |85 |9
15 N 1i01i6] 9 |42 (37 (28 (251334914329 (22(25 (3613829 (2221272528253
63 34 68|97 |80 [to3ftcafi13fitsiite|9i [81 (82179 [94 (94 |98(90 |72 174 {86 |78 (83 [0 |i¢
> (13 70 ‘§\21 15120032125 1253838 133(20 (25|25 |41 |44 [29 {21 |27 (26 |25 [27 |37 |3
B55 96 81 |56 |56 [103(94 [95 [110]ic3]|96 |88 {85 (89 [91 |98 [ic2|99 (32 {79 (81 [83 |30 |66 (39 (6
7 2 471552416 [16[33 3023125 (252021 {3i [44 (4332|1622 [24]31 |30 ]34 50/.?
——t7 123195 81 {85 |80 [98 (62 [1c1{93 (85|81 (92 13t 7)t11|8€6 (77 (93 totlittjtl .giw 5
<> 1819 [11114(33(34122 201142612521 (37136(32 |26 (2831 |27 143 40 |3
212167 |8C |93 |94 |97 95|96 |62 [75 {88 |i2c|128]125]87 {75 |92 [8C (S5 102182175 |68 |6
111143243435 |14 [181{12]23]32(32/43 2521 |20 39 |53 (46 (38|22 (33 [42 |3
95 A ——J1038]93 |86 {79 [t18]92 |ici|159]ie5 29 [SKI 833 (7683 {75 |8C |74 |6
12 o M2 |9 li3]i2]24(3i (2614|502 |3 323248*452 312912
d \132104 90 |90 126|965 1ot (S5 | Mg g3 788 |7% 163 |67 |62 |G
~——N7 {13]18137 12612018 [12]35(32728{33 (824 4733342;
thézwomz 81191 [S3191 |85 72472 |73 158 @y 70 [7617287,
1111333125 (1226 (22 |3N37 127 |24 {31744 |53 143433 (S
332135131 7918218183150 (71 7&174 7217 74{6&%}7)3471
9 19 {13]42122(12(28i9|37 (39144 [35130(34149/48 (32 |4,
{ ‘w i4C(i21{81 {8C |70 |55 [59 |73 [7XN76(78(77 |79 [@8 175 667
f 1313 j23{401/4C(34 (24|33 50137(26126 (471372613
17111986 (89 |76 (69 (59697977 |67 (6464|7675 |76 |7
- ?MLW 2\ 3 14 1343931 [26 (40 |46 47162382931 |46 |46 |27 |3
I~~~ ™N) 1511134[94 [83 (87 |84 (9385 |43 5316481 |74 (75 (777
4 |6 |46162]i5|9 {15162)5¢4 26|26 |3% |46 |42 |26 |3
27 lts3]ieg|87 {82 18250 85/9 471607775 |71 (71|96 (7
Example 2 1519 [47/59]20|6 |12 3%)29 24129 (37 50|50 |21 |5
_ 81 130133p12 61 1ce(g7793 V 75 [71 ]84 1e2]388
‘NE 121717 |4 a7 Tis |1c 2211912027 |20
87 8.7°LAT [ S4 ie3lie —es\kg—'rﬁs 78 1121164 |76
2 12 15 |i5P5 [2 16 |7 |54 (25
R 75 pssl61 C74 S0[55
\ 71618\ 4 1017 ~y
1323i6/i07 \ > 1
) A 714ls } :
=~ \ k27
5 Ny
106 S\
\ il } c Q\I\km
342
P \\ s A :'VPL?\
80 50 100 110 120 130



140

15¢

160

XIM86 ESEDOTLBBEE (4F) (B

170 180 170

11l
29

81
21

il2
13

30
14

17
14

S0

B R T e o S50 I SRS NN RS0 SN A0 S ) I

i

160,

20

— s

1124

3i

Si
20

94
26

34
18

sg |

24

70
1§

70 {92
26 |25

g2

......................

89
26

99
33

8C
il

103
27

118
27

78
15

85
14

S0
15

TP NS | e

121

105
15

60
22

93
15

36 (42
i5]26

82

115

133
10

129

72

73453
LG

12

122

55

To

160

48

77

79

W~ T‘W [¥a)
N
%)

87

€7

73

15 |i

66

20 i

67
22

50

74
29

L &
35

59

29 1"

72
37

60
44

40

3 146

93
46

[s]
/

38

75

42

35
38

30

92
43

o U O LD |0 LD CITRAENRTIONGY TO[TU QUG U SO W (U (| U
wu

S4
27

TEAR

MEAN DISPLACEMENT JIRECILEN ¢

Of
CYCLONE IN 2° SQUARE AREA

1968 12 — 1978 11

°)

20

°)

140

160

170 180 170

Ted?




